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Inorganic Chemistry-II
Bachelor of Science (BSC)

2nd Year Examination, 2023 (June)
Time : 2 Hours] [Max. Marks : 35

Note : This paper is of Thirty Five (35) marks divided into
two (02) Sections A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein.
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SECTION-A/( ©@US-% )
(Long Answer Type Questions)/( S ST ol Wg)

Note : Section 'A' contains Five (05) long answer type
questions of Nine and Half (9%2) marks each. Learners
are required to answer any Two (02) questions only.

(2x9%2=19)
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Describe the Werner theory of complex compound and its
experiment verification.
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Why do transition elements show the following properties ?
(a) Form a large number complex compounds.

(b) Exhibit good catalytic properties.

(c) Variable oxidation state.
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Define Stereo isomerism. Give a brief discussion on
geometrical of complexes with coordination number 4 and 6.
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4.

What is Lanthanide Contraction? What are its Causes? How
does it affect physical and chemical properties of
Lanthanide ?
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Attempt any two of the following :

(a) Explain bonding, magnetic properties and structure of
[MnCL,]’>-, [Ni(CN),]?>~ and [CoF]*.

(b) Explain relationship between electronic configuration
and magnetic properties of the first transition series.

(c) Latimer diagram.
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SECTION-B/ @Us-@ )

(Short Answer Type Questions)/( T I AT Y9 )

Note : Section 'B' contains Eight (08) short answer type

e :

questions of Four (04) marks each. Learners are required
to answer any Four (04) questions only.  (4x4=16)
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1. Why actinides have a greater tendency to form complexes
than lanthanides ?
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2. What is the EAN rule (Effective atomic number) ? Calculate
the EAN of the complexes

[V(H,0)(]%*, [Mn(H,0),]** and K,[Fe(CN),].
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3. What is the Arrhenius theory of the acid and base concept?
Give the limitation of the Arrhenius theory for acid and base
concept.
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4. Attempt any two of the following
(a) Solvent system concept

(b) Discuss the ion exchange method of isolation of
lanthanides.

(c) What are the actinides? Write the atomic number and
symbols of the actinides.
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5. Write the formula of the following compounds :
(a) Dichlorobis(ethylenediamine)cobalt(III) chloride
(b) Diammine(ethylenediamine)copper(Il) bromide
(¢) Tetraaquadichlorochromium(III) nitrate

(d) Dichlorobis (ethylenediamine) platinum (II)
frefafea ifet « g9 fafau :
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6. Discuss the linkage and Ionisation isomers with suitable
example.
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7. What is the redox reactions ? Explain the oxidation and
reduction with appropriate example.
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8. Why [Mn(H20)6]+2 are paramagnetic and [CO(H20)6]3Jr are
diamagnetic while both complex have same ligand, explain.
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